POLYNOMIAL AND SYNTHETIC DIVISION SECTION 2.3 NOTES

REVIEW: Simplify using long division. PAY ATTENTION TO THE PROCESS! r_a
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AFACTOR is a number or expression that _ € Veh \ divi OLQ,& another number or

expression. A number or expression evenly divides another if :}:h.i_. vzmig& 5 efp .

Polynomials can be divided in the same manner as the numbers above.
& REMEMBER TO ACCOUNT FOR ALL TERMS.

Simplify using long division and state whether the binomial is a factor of the polynomial.
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Long Division of Polynomials.
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SYNTHETIC DIVISION is a shorthand way of dividing a polynomial by a \'\*f\o_nr b‘l\\ﬂﬁ\@\
by usingonly the _Cpefficients

In order to use synthetic division, the dividend must be a polynomial written in standard form, ordered

by the power of the \f ¥ ia\o\e.  , with the largest power listed first. Ifa termis missing, __ O
must be used in its place.
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We use division of polynomials to help factor and find all of the zeros.

The Remainder Theorem
Ifa polynomial f(x)is divided by x -k, then the remainderis r= f{'f)_

9. Use the Remainder Theorem to find each function value given.
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Factor Theorem
A polynomial f(x)has a factor (.\:—!.']ifand only if f(x)=0.
ox*
10. Show that (x +3)isa factor of f(x)=x"~19x~-30. Then find the remaining factors of f(x).
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p. 144-145: 9,13, 16, 29, 31, 33, 39, 47, 49, 55, 58,59, 60, 63, 67,69, 75, 81
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